§Ov §5mA

90Wog

i

120y
\ Schoiterstetung Lang* Ny ImA
ucHN uBFN ueLn
4 hY
| )=
-~
200V, 55mA
5, . } 280F
E i — 'i 2% 2% wag 2021w l g
s i = 20 " Jaoor | 2T VRS
------ {
A y-15pr i—"‘” Q F K.‘ =
200 oF 0
of o
50 - » N
"‘p' o
50pF L1+l -
01D | 10nF orMn

!
]’"ﬂ 25 13 (Ym0 H 0! 0s
,f-,g n H] MO [g ]»'m MN
= £9¢ $1? 2Nl 2 q
o P’?( of 5 706 —a * A &
: ’ SEAREE
g n
~ +—r 3
o 28pF N
P 3 1-15 ISTH ‘ O1pF .
g 2 oF oF —{— 8
~ ~ ~
Sk
) ] [] 0) 100 0s ]
$0nF end rTsUasT 2U00 MO pF MO o1 1
‘]‘ wF|ep|ar|Ma(nF MOLF | 60,
Snf M0 : 1MA - 14y 0nh T4
2F 2468 kHz2 3 — 1200
_— T T o e -85V ]
110Wag 110 Wag = uvn
220
Qw= " == 2alyFf =X
y + o #F
= 0
: Hurn s
110Wag 05 A 19 wag 0ch /\ 2 65ma
& : -— —= N
Netrteil fir 125/220v u 2800wo
1500

90 Feia"ged 49

3 979 MD ¥ undnvig

=27



